Document 459840

E G R E E N H E C K RRL (Resettable/Reusable Link) on

Buildina Value in Air Combination Fire Smoke Dampers
9 : FSD, SSFSD, SEFSD, and IMO series

Steps to install a RRL in a Combination Fire Smoke Damper

1. Use a hole saw to drill a 3% in. (92 mm) diameter hole in sleeve (see Detail 2). See chart on page 2 for location of
hole.

2. Insert RRL unit through the hole in a sleeve (round end inside).

3. Place 4 in. x 4 in. (102 mm x 102 mm) J-box over the flange of the
RRL unit and align holes.

4. Mount control box to sleeve/sideplate with
#10-16 x % in. (19mm) screw or equivalent (see Detail 1).

5. Complete wiring and install J-box cover.

#10 3/4 in.

Detail 1

J-Box Cover
1 Req’d @
J-Box

1 Req’d
AT C)
1 Reqd @

9

Item Part Qty. Description
Number Number

820734 (165°)

P |BEsen) ARL Switch B
824672 (350°)

2 658593 1 4in. x 4 in. Cover Plate

3 415926* 2 | TCS, SHWH, #10-16 x .75 Screws

4 380864 1 4in. x 4 in. Handy Box

5 460632 1 Label

6 370119 1 EPDM Gasket

* Can also use equivalent #10 nut and bolt combination such as 415416 (STH #10-32 x .5)
and 415385 (Hex nut #10-32).

(B RRL IOM



Nominal 3v Steel

Section | Style Airfoil 8.375 < 11" NOM HEIGHT
Height (D) Style (D)
6;37 zfzz zfzz —D e 3.563 >11" NOM HEIGHT
9 3.625 3.625 /“\\ /’\\\ I :
10-11* 2.625 3.625 ( /1 L | : :
12-13* 2.625 4.125 . W . W ‘ \
14-15* | 3.125 4.625 o T : :
16* 3.625 5.125 \ \
17 4125 5.625 03.625 | |
18 13.125 13.125 \ \
19 14125 | 14125 | |
20 14.625 14.625 \ \
21 15.625 15.625 : :
22 16.625 16.625 Detail 2
23 17.125 17.125 All dimensions shown in inches.
24 18.125 18.125
25 19.625 19.625 e ™
26 20.625 20.625
iz: (‘33’ 21.625 91.625 RESETTIABLE REUSABLE LINK \ A
28,42 | 22125 | 22125 Srawn”
29,43,57 | 23.125 23.125 RESEN
30,44,58 | 24.125 24.125 RESES
553’153,5é9 25.125 25.125
32 26.625 26.625 OPTIONAL MONENTARY
33,47 | 27625 | 27.625 L1 ra L2
34,46 28.625 28.625 . ORANGE e o BLACK /_.JNC_._\ BLACK /M\ WHITE l
35,49 29.125 29.125 i N Y a”oo
36, 48 30.625 30.625 PRMARYTERP SENSOR / = e
37,51 31.125 31.125 DISCONNECT STl
38,50,52 | 32.125 32.125 N Wiring Diagram )
53 23.625 23.625
54 24.625 24.625
60 4125 4125 *Note: Operator mounted upside down on steel airfoil units from

10in. to 17 in. (254 mm to 432 mm)

Our Commitment

As a result of our commitment to continuous improvement, Greenheck reserves the right to change specifications
without notice.

Product warranties can be found online at Greenheck.com, either on the specific product page or in the
literature section of the website at Greenheck.com/Resources/Library/Literature.

[ B GREENHECK

Building Value in Air.

Phone: 715.359.6171 ¢ Fax: 715.355.2399 e Parts : 800.355.5354 ¢ E-mail: gfcinfo@greenheck.com ¢ Website: www.greenheck.com

Bl 459840  RRL IOM, Rev. 12, May 2024 Copyright 2024 © Greenheck Fan Corporation



